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Ul 3 otgldt udieall usl gAReuc el 20

1.8 Ustel ddeotalld Gusel 3 % BReel azu R, fles 252 alclt vl wollull Y24 8
A. Keyboard B. Plotter C. Seanner D.OMR

2. Poerata AsRLARR
A . Operating System B. Browser C.IP address D. Compiler

3. 8lolld slnejz2e] sall ysie] Gusee &7
A Memory B Output CStorage D lInput

4. sz ¥ecll Rdl ul aolfsel 531 usial ?
A3 B4 C5 D6

5.8002022 oft Uikl V&L 1l 585 25l oll duldel sl 2l & 7
A. Artificial Intelligence B. Programming Intelligence €. System Knowledge D.VVLSI

6. 522 yar U@ 58 2sallclloy U w3t sdl?
A.Transistor B8.LSI C.ViSI D.Vaccum Tube

7. HIBs AR slefer s¢f Ul ui Aguild s2aul 2l sdl?
A. Second Generation B. Fourth Generation C. Both (A) and (B) D. Third Generation

8. 8l11ej2? of] ofloy V& i 585 Ssallclley A Axidal sal 2l & ?
A. Vaccum Tubes B.Transistors C.LSI D.VLSI E.None of these

9. GUI o] Y3 ollH aseucl

A. Graph Use Interface B. Graphical Universal Interface C.Graphical User Interface D. Graphical Unique
Interface E. None of these

10. ReSual slnegeeell Al Hi eluel shed et vl Yol A _ - 313 owtaunl 2d B
A. Storage B. Qutput C. Input D. Information

1. ollAatl Wil s3] AEAKAA WAz Wder atall?
A. Redhat Linux B.Microsoft Office C.Adabe Pagemaker D.Open Office

12. o{lAall Hiell 52 [Auiat v B7?

A. Photoshop is a graphical design tool by Adobe B.Linux is free and open source software C. Linux is owned
and sold by Microsoft D.Windows XP is an operating system

=)



13. ERROR ol ollog safl a3 20nua 87
A. Bug B. Debug C. Cursor D. Icon

14 Hisillse o8 Al sal Ysize] Gelsel &

A. Operating system B. Processing device C. Application software D.an input device
E. System Software

15. 52 WA Adandls wa dAllese suoldl s 8
A.Control B. ALU C. Register D.Cache Memory

16 Wilanalls s aylde Aed

A. Perform arithmetic operations B. Store data C. perform comparison D. communicate with input devices
from abzove the correct one is

17 1 [sedloutSe=
A1000 bytes B. 1024 bytes C.2048 bytes D.512 byte

15, ol Higll 565 wiSent ol Gualal taN Hl sl sadl o2l
A, Computers B. Modem C. Printer D. Cable

19. s12j2R ciaU us 8.

A. Hardware B. Software C. Bacteria D. Freeware

20 1 Vel
A.1024 Byte B.1024 KB C.1000 KB D.1024 GB
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